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A
=1 51 H % 2-M3H % 3-HiHR % 4-TU3HR
4RA138~7A18H) (7H18B8~10A 10 A) (10 A10EB~1 A 15H) (1A158~4 A 16 A)
1 131 £ 0.6 133 £ 0.6 132 = 05 126 = 0.6
2 131 £ 1.0 137 £ 1.7 137 = 0.5 128 = 0.6
3 113 = 1.1*! 113 £ 1.1*3 113 =+ 0.5*° 109 =+ 0.67
4 154 =+ 2.2*! 158 =+ 1.1*3 156 =+ 1.9*° 149 =+ 1.07
5 155 =+ 0.9*2 160 =+ 1.3** 160 = 0.5 151 £ 0.07
6 122 + 0.9*2 123 =+ 1.3** 123 == 05 117 £ 157
7 115 =+ 1.6*2 119 =+ 1.9** 117 == 141 110 = 0.07
8 135 £ 1.5 139 £ 0.6 136 = 0.9 131 £ 15
9 119 = 06 122 £ 0.0 123 = 14 115 =*= 11
10 110 = 0.6 108 £ 0.6 109 =+ 0.0*° 105 =+ 0.6
L 55t B 47 £ 06 47 £ 04 47 £ 06 48 £ 05
4A78B~7H248) (7A11 B~ 10A208) (10A3B~1H19AH) (1A9YH~4A198)

x 1. 5RE#MIZ4 8128~ 7H 18 BTH5, x5 ZXEHMIZ10A 11 B~ 1 A 15 BTHS,
x2: B4 8128~ 7TH 19 8TH5, *x 6:ZXEHMIZ10A 108~ 1 A 16 ATHS,
*x 3 EREHEIE 78 18E~ 10 A 11 BTH5, * 7 REHMIZ1 A158B~ 4 A 17 BTHS,
x4 EZEHIIL7HA 198~ 10 A 10 ATHAS, x 8 EXEHIMIL1 A16 H~ 4 A 16 ATHA,
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